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Revision – Chapter 4 – Software-Marking Scheme  
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	All correct – 2 marks
At least 2 correct – 1 mark 
Less then 2 correct – 0 mark
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One mark per each correct term in the correct place

high-level language
line by line

all at once
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is not required
debugging
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There are five tyi)es of software on the left and four items of hardware on the

right.

Draw lines to connect each software item to the hardware item where the

software will reside; each hardware item may be used once, more than once or

not at all.

part of a program or 0S
currently in use

the actual BIOS settings

cMos

the actual BIOS software

flash memory

operating system software

hard disk drive (HDD)

virus scanner software

random access memory (RAM)
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(a)(i) |e They both report/check for errors

a)(ii) Four from (MAX 2 per translator):

An interpreter translates the code line by line (and executes each line immediately)
... Whereas a compiler translates the whole code at the same time (before executing it)

A compiler produces an executable file
... but an interpreter does not

An interpreter is required to run the code each time if used
... Whereas a compiler is not

An interpreter stops and reports an error as it is encountered
... Whereas a compiler creates a report of all errors at the end of translation

An interpreter will run code up to the point it finds an error
... Whereas a compiler will not run the code at all if an error is found
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(@) Any three from:

It uses English-like statements

It needs to be converted to machine code (to be processed by a computer)
... using a translator

It is portable

One line of code can perform multiple commands

b)(i) | Two from:

The user is not allowed to access the source code ...

... s0, they cannot tailor the software to their needs

... s0, they cannot fix any bugs in it

The software is still covered by copyright

The user must get the owner’s permission to do anything beyond using it

b)(ii) Two from:

The user can access the source code ...

... s0, they can tailor the software to their needs

... s0, they can fix any bugs in it

... s0, the source code could be studied for educational purposes

The user can redistribute the software/program ...

... but this must be done under the same terms as the original software
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